Easter Cracking Code Jokes
To find the punch line to the Easter joke, work out the /_ér?q“ \
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answer to each calculation. Next, use the grid to find = rw{:ﬂ:
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the letter that goes with each answer. Write the letters —— ‘9 :,
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in the space provided. The first one is done for you!

How did the Easter Bunny feel when someone ate all of his chocolate eggs?
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n 0 p q r 5 t u v w X y z

29 | 43 | 25 | 30 | 41 | 35 | 20 | 48 | 13 | 23 | 37 | 42 | 19

1. 11+?=I{1;\j E.35+5=|{F\j 3. 1Er+9=l/_\]
P £ N
4 18+ 7= | 5. 44 +3=( | 6. 27 +2=( |
P Ll
7.18+8=[ 8. 12+10=| j,
L L
10. 35+ 9 = |'/_\I
“x_f




